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Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
1.
1) 906 2) 306 3 905 4 701
- 106 - 239 - 214 - 557 ”
3.
4,
5) 205 6 501 7 401 8 406 >
- 22 -157 - 52 -_309 6
7.
8.
9 404 10) 808 1) 205 12) 409 9.
- 42 - 403 -103 - 395 o
11.
12.
13) 902 14) 606 15) 405 16) 602 13.
-672 - 39 - 337 - 165
- - 14.
15.
16.
17) 804 18) 503 19) 308 20) 401 17,
- 318 - 138 - 301 - 332
I I - 18.
19.
20.
1-10 [95/90(85(80| 75| 70| 65|60 55| 50
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Subtracting Across Zero Name: Answer Key
Use subtraction to solve the following problems. Answers
. 800
) 906 2 306 3 905 5 701 '
- 106 - 239 - 214 - 557 ” 67
800 67 691 144
3 691
4 144
5 205 6) 501 7 401 8 406 > 183
- 22 - 157 - 52 -309 . 344
183 344 349 97
. 349
8 97
9 404 10 808 1) 205 12 409 J 362
- 42 - 403 -103 - 395 o 405
362 405 102 14 '
11, 102
12 14
13) 902 14) 606 15) 405 16) 602 13 230
- 672 - 39 - 337 - 165 57
230 567 68 437 14.
15, 63
16, 437
17) 804 18) 503 199 308 200 401 17 486
- 318 - 138 - 301 - 332
486 365 7 69 8. 365
10, 7
20, 69
1-10 195(90(85|80| 7570|6560 |55 |50
M ath www.CommonCoreSheets.com 11-20{45140(35(30|25|20(15(10|1 5| O




JL_

Subtracting Across Zero Name:
Use subtraction to solve the following problems. Answers
230 97 144 800 183
68 567 362 344 102 1.
349 67 14 405 691
2.
1) 906 2) 306 3) 905 3.
- 106 - 239 -214
- 4,
5.
6.
4 701 5 205 6) 501
- 557 - 22 - 157 b
8.
9.
) 401 8 406 9 404 10.
- 52 - 309 - 42
= - 11.
12.
13.
10) 808 1) 205 12) 409
14,
- 403 - 103 - 395
15.
13) 902 14) 606 15 405
-672 - 39 - 337
[ M ath M odified 5 1111105 ? 2(7) 2(3) 773 %7 60 | 53|47 |40]33]
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